[BAA]

_ _ (202554 A 5 #)
LoAVE — & EB58 BELE BREEHE #5H 13—2R
S-1+CDDPHEE SRISFY 60mg/m? R 285 di 350
THI=IW/FAZDI/ATIVIN 80mg/m? #&n - d14 ~2284
S1+GPT-1 1§k 1)/ Thy 80mg/m’ o 905} d1. 15 250
THAI=IW/FAZDI/ATIVIN 80mg/m? #&n - d14 ~2284
CPT-11+CDDPHEE 1)/ ThY 70mg/m’ T 9053 d1. 15 286
RTSFY 80mg/m’ R 2% d1
DTXE % Fe42%t)L 60mg/m’ b 1554 d1 218
weeklyPTXH % DLV 80mg/m’ =¥ 1R d1.8.15 28H
FSRYRXTT 8mg/kg—6mg/ke ¥ 904 —30% d1
HER+XP#& % DRISFY 80mg/m? =¥ 265MH d1 21H
HREEY 2000mg/m’ ®0O - d14 ~158]
SwHERsweeklyPTXFEE FSRYXTT 8mg/kg—6mg/kg =¥ | 905 —30% d1~3EfE 28H
AU EES )7 80mg/m’ R 1058 d1.8.15
CPT-115:% A/ ThY 150mg/m? =¥ | 204> d1, 15 35H
SOXHELE FEHUTSFY 130mg/m? =¥ 28 H d1 1A
THI=IV/FXASDI/ AT 80mg/m? #0O — d14 ~155H
RamfEi& SLIWIT 8mg/kg =¥ 185 R di 148
Ram+woeklyPTXHEE SLIWIT 8mg/kg =¥ | 185 R d1, 15 28
)Xl 60mg/m? =¥ 1058 d1.8.15
XELOXHEE TxHUTSFY 130mg/m’ =¥ 2/%FH di 21
HRVEEY 2000mg/m” &0 - d14 ~158]
weekly nab-PTXE&ix [FILTIVBEHE /) 454 100mg/m” =¥ | 305 d1.8.15 28H
S1DTXHRE F‘#@#t)b 40mg/m? =¥ 1R d1 21E
THI—=I/FASVII/FTIVI 80mg/m? #0 - d1% ~ 1584
Nivof#tiZ (2:8 ) =R<I 240mg/body =¥ | 305 d1 14H
Nivofi% (458 ) —iRL<I 480mg/body ik 3045 d1 28H
=RL<I 360mg/body =¥ | 305 d1
Nivo+SOX# ik TXRHYTSFY 130mg/m2 =% 28R d1 218
FHI=IV/ XA/ ATV 80mg/m? #0o — d14 ~155H
i V-4 360mg/body =¥ 305 di
Nivo+XLOX % TxHUTSFY 130mg/m2 T 285 di 218
HRVEEY 2000mg/m” &0 - d14 ~158]
FEHUTSFY 85mg/m’ =i 285 H d1
MFOLFOXGHEA LRy F—k 200mg/m? Rl 20%H di 148
ILFAaosvL 400mg/m’ =% 5% d1
TLAEISVIL 2400mg/m’ =¥ 46854 di
=RL<I 240mg/body =¥ | 305 d1
FXHUTSFY 85mg/m2 =% plicdis! d1
Nivo+mFOLFOX64&;% L) F—k 200mg/m? miE 20% di 148
ILFAaosvL 400mg/m’ =% 5% d1
ZILAEISVIL 2400mg/m’ =¥ 46854 di
RALATOYXRTEE RLTOYRTT 200mg/body =¥ | 305 d1 218
o RLTOYRXIT 200mg/body R 305> di
’\Jj:sjolz)'(;g;j FXHITIF 130mg/m2 R 285 di 218
THI=IW/FAZDI/ATIVIL 80mg/m? #&n - d14 ~ 1584




[BAA]

: _ _ (202554 A 5 #)
LA % —HE& BEE BELE BREEHE 5 H 13—2X
2
JIARYELTT (FEDS0Ome/m” | o | opspgnit a1
VIRYEXLTT (2[E1 LAF%) 600mg/m? ’1E
+CAPOX# TxHIVTSFY 130mg/m? ik 2B d1
HRIEEY 2000mg/m’ #0 — d14 ~ 1584
2
JLRYELTT (FNEDS0Ome/m | o | opspgnit "
(2[E1 LAF%) 400mg/m?
JILRYXLTT FEHVTSFY 85mg/m2 =% 2B di 148
+mFOLFOX6%%i% LR F—k 200mg/m” U 285 di
ZLAIYSUNL 400mg/m? =¥ 54 d1
LAOnSoL 2400mg/m’ i 46R%ERS d1




